Radioactive decay and half life 

1.
The initial count rate due to carbon 14 in an archaeological sample is 20 Bq. What will be the count rate after:

(a) 5570 years (b) 22280 years

Half-life of carbon 14 = 5570 years

2.
Calculate the activity of a sample of caesium 137 in the years: -

(a) 2015 and (b) 2057 if the activity in 2001 was 185 kBq

Half-life of caesium 137 = 28 years

3.
Straight line graphs are much more useful than curves when calculating results. What would you plot on the two axes to obtain a straight line graph from the equation for activity.

4.
A student obtains the following results for the activity of a sample of radioactive liquid with a half-life of 25 m in the laboratory.

Activity (Bq)


10  
7.8 
6.3 
4.7
3.8 
2.9 
2.3 
1.9

Number of half lives(N)
 0 
1 
2 
3
4 
5 
6 
7

Plot a straight-line graph as suggested in question three and use it to find the activity of the sample after:

(a)
25 m (b) 3 hours

